ApTHUKYI

HamMeHOBaHME

=
o)
=

lnyp ceTeBOM

Pesuuka mHypa

[lnmacTHuHA IIPMXMMHaAd

BuuT M4x10

KounmeHncarTop
20-0073 MUKPOBEIKJIIIOUATETb
Kopnyc py4YKM JIeBHIMA
792-810-009 Bas OJIOKMPOBKU
792-810-010 [IpyxunHa
792-810-011 Knasuma
792-810-012 Kopnyc pydkHM IIpaBHI

BuHT M4x12

BuuT M5x16

792-810-015

[IpoBka meTkomepXaTesid

Rl RN RN NS R R R R R R RN R R e

wWlwlwlw vl o N R R R e e e e e e e
m O eloldlelaln k| olo|o|alalals|lwlve|lolO oo e wiheF

lleTxkOomepxaTelb
792-827-024 lleTxkn rpadmTOBEE
Kopnyc craropa (16,18)
BuHT
792-810-020 CraTop
792-810-021 [IpyxmHa
792-810-022 Tsara
792-810-029 SAKOpPBb 1
BunT M4x55 4
792-810-031 llecTepHsa fAKOpPS 1
792-810-032 Tarika 1
792-810-033 [EIBHMK CTaTOpa 1
ByHT M3x12 1
3
2
Mogpernb
1 [Inna eIlHAasI 3JIeKTpndeckKasi
o P CSE220L

Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 1




36

Ne ApTHUKYI HamMeHOBaHME Koxn
35

36 Pyuka-nyra 1
37

38 Byuur M5x16 2
39 Pyuka TopMO3a 1
40 ByuuT M5x16 1
41 1792-810-041 Kopnyc penykTopa 1
42 MUKPOBEIKJIOUYATET b 1
43 1792-810-043 [IpyXxMHa TOpMO3a 1
44 Buur M3x8 3
45 1792-810-045 MacJyioHacoc 1
50

51

52

53 |792-810-050 Bak MacCJISHBIM 1
54

55

56

57

58 |792-773-040 [IpoBbra macsobaxa 1
59

60 BuHT M3%6 2
61 |792-810-061 [IrmacTuHa 1
62 |792-810-062 IpyxnHa 1
63 |792-810-063 IlTox TOpMO3a 1
64 |792-810-064 Tsara 1
65 |792-810-065 G20y 1
66 |792-810-066 KpoHumTenH 1
67 ByuT M4x14 1
68 BuuT M5x25 2
69 |792-810-069 Kopnyc 1

Mogpernb

[Inna uenHasi SJIeKTpn4YecKas CSE220L

Technical department

Assembly drawing

Engineer,

chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTHUKYI HamMeHOBaHME Kon

70
71
72
73
74 |792-810-070 llecTepHa penykTopa B cbope 1
75
76
77
78

60 62

79 [792-810-079 [[EBUILHUK MEeCTEePHU 1

80 BuuT M5x25 2

MonmeJb
80
&"é;/ mna nenHast SAEKTPUIECKAS |  ~gmoo(L,

/ Technical department Assembly drawing

Z Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 3




Ne ApTHUKYI HamMeHOBaHME Koxn
2? 792-810-084 HaTsaxurensr B cbope 1
86 |792-810-086 linaHT MacJjonoIaumn 1
87 |792-810-087 [TaTpy®OK MaCJISHBI 1
88 |792-810-088 Konb1o yHJIOTHUTEJIbHOE 1
89 BuHT M4x14 2
90 |792-810-090 Kprllka koplyca penykKTopa 1
91 BuuT M5x16 3
92 |792-810-092 YnJoTHeHMEe MacJliokaHalJa 1
93 |792-810-093 KpoHmTenH 1
94 ByuuT M5x16 2
95 ByuT M4x10 2
97 |792-810-097 YIJIOTHEHME KPBIIKM MMHEL 1
98

Kpblllka MMHEL 1
99
102 1792-803-083 [IpyXMHa 3BE3I0UKM 1
103 |792-773-055 3Besnouka Benylas 1
104 |792-773-056 KonpLO CTONOPHOE 1
105 |792-810-105 llariBa 3BEe3OOYKU 1
106 Ynop 3yOuaTel 1
107 ByuT M4x8 2
108 BuuT M4x50 1
109 T'alika KpeNnJIeHMs MMHEL 1
110 Kitrou 1

Mogpernb

[Inna uenHasi SJIeKTpn4YecKas CSE220L

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 4




